(MOTORSPORT)

FMINDK34 Fitting Instructions Suzuki Jimny

t‘}';\ C
O
-

e
- e
'\f)»»m

o

VL
L 2O

Please thoroughly read through and familiarise yourself with these instructions in their entirety prior to
beginning any part of the installation process of any component. Please also ensure the vehicle and
engine has cooled down sufficiently to avoid risking possible skin burns or other injury.

TOOLS NEEDED:
7/8/10/13mm socket and drive

Flat blade screwdriver/trim tool
13mm spanner
Philips screwdriver



1. Open the bonnet and locate the OE air box. You will see the arrows locate the fasteners that need to be
removed to release the air box.

2. Remove the two M6 fasteners attaching the air scoop to the slam panel, use a 10mm socket and drive to do
this.




3. Locate the two M6 fasteners attaching the air box to the engine, remove these with a 10mm spanner. There
is a wiring loom which is attached to the air box use a trim tool or flat blade screwdriver to release this loom.

4. Undo the hose clamp securing the rubber hose to the air box. Use an 8mm socket and rachet or a flat blade
screwdriver to do this. The air box can now be removed from the engine bay.




5. The hose clamp holding the turbo intake pipe also needs to be slackened off with an 8mm socket or flat
blade screwdriver. Remove the sensor and oil breather hose from the turbo intake pipe, these will just pull

out. Remove the rubber hose from the throttle body.

7

LT

AHA 2
LV P —




6. Fit the smaller silicon hose from the FMINDK34 kit to the throttle body. Use the 40-60 hose clamp for the
throttle body side and the 70-90 for the air filter side of the hose. The sensor and oil breather which was
removed in the previous step can now be re installed in the same positions as the OE hose, these just push
into place. Use a 7mm socket and rachet or flat blade screwdriver to tighten both hose clamps.

7. Before fitting the air filter, you must first attach the mounting bracket. Use a Philips screwdriver to release
the three fasteners which hold the alloy spinning in place.




With the filter removed from the canister, fit the L bracket, two M6 washers, two M6 nuts and the rubber
anti-vibration bush from the kit. Insert the larger thread of the anti-vibration bush into the 6mm hole in the
carbon canister, use one of the washers and nuts to secure it into place. You will need a 10mm spanner to
tighten them.

Mount the bracket to the anti-vibration bush and use the remaining M6 washer and M6 nut to attach it. Re
fit the alloy spinning and filter back into the carbon canister.




9. Fit the carbon filter to the silicon hose installed earlier, Use the M8 fastener, two M8 washers and M8 nut to
fasten the bracket attached to the filter to the old mounting point of the OE filter box. Use a 13mm socket
and spanner to tighten them up, you will now be able to tighten the hose clamp for the silicon hose with a
8mm socket or flat blade screwdriver.

10. Place the Forge air scoop from the kit into place by lining up the two 6mm holes in the air scoop with the
two threaded holes in the slam panel of the vehicle. Use the two M6x10 fasteners and the two M6 washers

to fix it into place. Use a 10mm spanner to do this.




11. Finally fit the remaining silicon hose to the carbon air filter by inserting the long end of the hose into the air
scoop and the shorter end to the alloy spinning. Use the 70-90 hose clamp to attach the hose to the filter,
use a 7mm socket and rachet or flat blade screwdriver to tighten the hose clamp.

12. That’s your install complete, make a final check that everything is attached properly and nicely tightened,
then take you vehicle for a test drive and enjoy your new forge motorsport product.

MOTORSPORT

Check out WWW.FORGEMOTORSPORT.CO.UK and WWW.FORGEMOTORSPORT.COM
For a full range of performance products for your vehicle.

If you have any questions or concerns about this product or anything else, please feel free to contact your
local or preferred Forge Motorsport Dealer/Installer or you may contact us directly.

Forge Motorsport UK (+44)1452 380999 info@forgemotorsport.co.uk
Forge Motorsport USA (407)-447-5363 sales@forgemotorsport.com
Forge Motorsport ASIA +886-4-22516887 sales@forgemotorsport.asia

Forge Motorsport @forgemotorsport @forgemotorsport Forge Motorsport


http://www.forgemotorsport.co.uk/
http://www.forgemotorsport.com/
mailto:info@forgemotorsport.co.uk
mailto:sales@forgemotorsport.com
mailto:info@forgemotorsport.co.uk

